
  

 0 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

UC-S106 

Mobile Rack 

User’s Manual 

SATA to SATA 



  

 1 

 
Index  
 
Package content Page 1 
Product illustration Page 2 
Feature & Specification Page 3 
Installation Page 4 
Caution Page 5 
 
 

 

 

Package content: 
1. Mobile rack *1 
2. User’s Manual *1 
3. Accessory kit: 

a. Security key *1 
b. Screws for HDD *4 (#6-32UNC) 
c. Screws for mobile rack *4 (M3 * 0.5) 

 

 

#6-32UNC M3 * 0.5 



  

 2 

 
Product illustration 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



  

 3 

Feature: 
1. Support 3.5” SATA HDD 

2. Data transfer rate is up to 150 MB/sec 

3. Plug & play with hot-swap ready  

4. Aluminum design for the best effective heat dissipation 

5. Built-in a patent blower in the bottom offering the extra solution 

of heat dissipation 

6. Unique easy in / out handle design for the inner tray  

7. “Key Lock” design to secure your HDD 

 
Specification 
 

Application 3.5” SATA HDD 

Material Aluminum /ABS 

Interface SATA to SATA 

Data transfer rate  150 MB/sec 

DC input 4-pin power connector 

LED indicator 2 (Power & HDD) 

Cooling fan 6 cm blower *1 (bottom) 

Product dimensions (D*W*H) 224*148*42 mm 



  

 4 

Installation 
 

1.Turn off the key lock and take 
out inner box. 

2. Open the upper cover and 
connect the SATA power pin 
header with SATA HDD. 

 
 

 
 
 
 

 
3.Fix the HDD with screws 

(#6-32UNC), then close upper 
cover. 

 
 
 
 
 
 
 
 

4.Secure the frame by using the 
screws （M3-0.5）. 

 
 
 
 
 
 
 
5.Connect the power cable to power 

supply and SATA cable to M/B. 

 

6.Put the inner tray into outer 
frame & lock it. 

Note: When you push the inner tray in, please raise the handle 
as horizontal state. While you can't push any longer, 
please put the handle down, then the inner tray will be 
connected to the outer frame at the same time. 

The handle isn't in horizontal
state when you push in. 

 



  

 5 

Caution 
 

1. Make sure the "Key Lock" is at position "Lock" after the 

installation of mobile rack. 

2. If the HDD does not work after turning on the power of your 

PC, please check the "Power" and SATA connectors for any 

possible errors. 

 

 



  

 7  



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




